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Sfull marks for the questions.

Answer either in English or in Assamese.
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Answer gs directed : (any ten) 1x10=10
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(@) Human Resource Management is very
. Useful in creating work culture in an

Organisation. ,
(State whether True or False)

5] TR\ st A<Ff© aif6 Slerater qe T
BT oS wmiql | (9% @ T8 fR0)

Contd.



9

(b)

(c)

(d)
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The process of human resourcé
planning should begin at the top level ‘_
| (State whether True or Falséll/
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Human beings are the key and most
important investment and assets 1P
modern organisation. |

(State whether True or Falsé
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The common belief now-a-days 1s tha! ;
Managers are born, not made.
; (State whether True or F alsd
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All the employees.require Constan;l
‘.Ob'———- to cope with the need of tbl
job. (Fill in the blam
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Job evaluatipn IS the technique !
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(Fill in the bla™

| (9) The selection procedure ends with the

(h)
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of a worker on the job.
(Fill in the blank)

rd

ﬂmﬁeﬁ’?&mw‘s@am SRR
™I 27 | (AT D12 279 F7)

Counselling is the discussion of an
problem- with an employee.
(Fill in the blank)
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When the employee feels that an
injustice has been done, it becomes a
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()  complaint (SfeEasicen)
(i) dissatisfaction (SPTERE)
(i) grievance (9% GGG

(iv) punishment (*iif&teT)
(Choose the correct answer)
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The basic objective of industrial heal L

s
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[MNDieventont of discase and injun
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(i) medica] reimbursement
DR = osgge

(W) cure of the diseases

| (k)

@99 elfsag
() All of the above
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(Choose the correct anst}
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A large part of .compensation i

People receive from work is

IR (969 9 i THose oA o2l

(1) Non-monetg

MALRSIIRE R =
(ii) monetary
SifE ey
(i) fringe benefitg 3
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(iv) None of the above
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()  The basic job of €Very executive is

(1)
()
(iii)

(iv)

planning

GiSsEn)
organising
AR
decision-making
el sz
coordinating

& _
(Choose the correct answer)
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(m) The success of an organisation depends
upon the quality of selected

B! AfSHY TSl (ST IS

(i)  Machines (3Z7f®)
(ii) Tools (31gT) |
(i) Market (IS9) r
(tv) Personnel (N9 7=2)
| (Choose the correct answer)
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@ [n which year National Institute
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Lﬁbour Management was established
SR SR wifR51e1 aifsdi eprrh) o o
(3T e
() 1950 (BRQO)
(i) 1965 (ssue)
(i) 1947 (S;;gq‘)
(W) 1975 (s54¢)
(Choose the correct ansi
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Socia] :
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Well~being O?ty Is concerned with 0
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M) the consumer
Colere
(i)
the People |
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(%) the governmen-t !
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2. Write very short answer : (any five)
2x5=10
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(@) What is human resource management ?
R A= 2l e 52
(b) What is meant by outsourcing ?
fReTv Sz e & e

(c/) What do yoﬁ mean by career
development ?

RaR Jer e & 9@1?

(d) What is 360 degree performance
appraisal ? ;

oo TB3T) ARAHel JenrE S {52
(e) Mention two elements of compensation.

TovjRed 70 GAmlA S il
() What is fringe benefit?
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(g) Mention two merits of directive
counselling.
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(h) Mention two significance of labour
welfare to the society.
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3. Answer the following : (any four)
; 5x4=20
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@ Explain the recent changes which are

taking place in the field of human
f€Source management.
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(b) Wh i
¥ eiltrl are various factors responsible
i e n‘eed of human resource
| ormation syster Explain
T Sy ‘
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(c) Discy
SS aboy ‘
iy t various objectives of
| Fesource blanning
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(d)

(9)

(h)
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- What are the limitations of interview in

selection process ? Explain.
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Discuss about the importance and
needs of- executive development in
human resource management.
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What are the essentials of social
promotion policy ? Explain.
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Discuss about various external factors
influencing employee remuneration

policy.
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Briefly discuss the welfare facilities for
workers under the Factories Act, 1948.
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Answer the following questions : (any four)
: 10x4=40
TS FRIWIRE $e1 741 2 (Rigemizy bIf<G1)

(@)

Discuss various managerial -and

operative functiong of human resource
Mmanagement,

WWWW|

(b)

1 .
echniques ygeqg for analysing the jobs.
2+8=10

()

ment,
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(d)

TR _ '
atis job analysis 7 Describe various

(e)

(9)

()
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What is performance appraisal?
Explain the importance of performance
appraisal in human resource
management. 2+8=10
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What is meant by transfer ? What are

its various kinds ? Bring out clearly the

features of a sound transfer policy ?
2+4+4=10
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What is voluntary retirement scheme ?
Discuss about various ‘issues involved
in VRS for its effectiveness. 2+8=10
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Examine various legal provisions
regarding safety of workers. |
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What is an industrial dispute ? Discuss
about various provisions of the
Industrial Disputes Act, 1947 for
settlement of industrial disputes.

2+8=10
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What are the basic qualities required
for a human resource manager. Discuss

about his role in modern organisation-
5+5=10
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